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Endowment: w,
Risk: g=(a°(W,-L), (1-ar) °w,) ac(0,1)
Actually fair price of insurance p:
— a(p-DH1-00) p=0 2 p=«
The amount of insurance X
g(X)=(a © (Wy-L- ax+Xx), (1-cv) © (Wp-ax)
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* [8]
~ A 25% $6000
- B: 25% $4000 25% $2000
- 68 18% A 8 B

— w(.25)* v (6000) <m(.25)* v (4000)+ m(.25)* v (2000)
— V(6000) <v(4000)+ v(2000)
- 2 v
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— A:25% $6000 at 25% chance
— B:25% $4000 25% $2000

— 63 70% A 30 B

— w(.25)* v (-6000) > m(.25)* v (-4000)+ =(.25)* v (-2000)
— V(-6000) <v(-4000)+ v(-2000)
- 2 v
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Risk Seeking Gain curve -
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l “Loom larger™
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